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17P/306/25(Set-1)

No. of Quaattnnsl : 120
¥ 3T T 120

Time : 2 Hours | [ Full Marks : 360
7Y : 2 qoe ] ; ' [ goifa : 360

Note : (1) Answer as many questions as you can, Bach question carries 3 (Three)
marks. One mark will bé deducted for each incorrect answer. Zero mark
will be awarded for each unattempted question.

e g B e T B v FRY | Tde 5T 3 (@) 5 & 2
mﬂaﬁaﬁ?ah‘WWWWarmﬂmmﬁaﬁﬁﬁamaﬂw
¥ &

(2) If more thar one alternative answers seem to be approximate to the rorrect
answer, choose the closest one. ~——.

IR VD dfeed SR WEY WK @ Fiwe gl &, & Fee vl o )
SECTION - 1
grg -1
Direction for Q. Nos. 1ted:In each of the following questions, find the word clasest to
the meaning of the capitalized word :

1. STIPULATION:

(1) Imitation (2) Signal (3) Excitement () Requirement
2. LATENT:

(1) Concealed (2) Apparent (3) Lethargic (4} Prompt
3. PRIVY: ST,

(1) Dishonest (2) Cautious {3) Secretive @) Ouier
4. REJOICE: | |

(1) Rejoin - {2} Rebuild (3) Rename {4) DEh'ghf

1y
P.T.0,
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Direction for ). Nos. 5 to 8 : In each of the following questions, a capitalized pair of
words is provided, which are related to each other in a certain way. Following it are
the four options which have a single pair of words each. The correct answer will have

a pair of words which has the same relationship as the capitalized pair. You have to
identify this pair of words :

b

EXTRACT : TOCOTH

(1) Cut: Nail (2) Uproot : Stump
(3) Pull out: Pin (4) Cut:Wood
GLOVE : BALL

(1} Summer : Winter . (2} Game : Study
(3} Stadium : Scats (4) Hook : Fish

LAWYER : COURT
(1} Profeesor : University . {2} Author : Book
(3) Wine : Grapes {4) Volume : Liter

SATIN : SOFT

(1) Polyester: Expensive (2) Tron: Hard
(3} Soft : Cotlon (4) Wood : Coloured

Direction for (. Nos. 9 to 12 : These questions are incomplete sentences. Beneath each
sentence you will see four numbered words or phtases. Choose the one that best
completes the sentence :

9.

10.

1.

He bought new shoes last month but they are already .............. out.
(1) given (2) gone (3) knocked (4) worn
He 08 50 v vermereee that everyone is always ......covoeen to help him tn his work.

(1) Helpful, reluctant (2) Aloof, cooperative

(3) Admant, enthusiastic (4) Magnanimous, eager

§ O SUBECt L more appropriate to commemorate

hi tha
1 thDug I'thda}' than cricket.

Tendulkar's B
(1) would be
(3) had becn

(2) would have been
(4) has been

(2)
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12. Till the early part of the AD era, the Romans as a people led a secluded life and
their influence ............. 20 Th0L felt on the cultures of the world.

(1} has ~ {2) was (3) is (4) has been

Direction for (. Nos. 13 to 16 : In each of the following questions four alternatives are
given for the idiom / phrase italicized in the sentence. Choouse the one that best
expresses the meaning of the given idiom / phrase :

13. His most trusted friend proved to be a snake i the grass.

(1) an unreliable person {2) ahidden enemy
(3} low and mean (4) cowardly and brital
14. You cannot have your cake and eat Iif too. i
(1) enjoy forever . (2) enjoy without payment
(3) have it both ways ' (4) absolve yourseif of guilt
T —

13.  In the beginning of his career, he was practically rolling in money.
(1) wasting a lot of money - | '
(2} spending more than his earnings
(3} very rich

(4) saving lot of money

16. The students were in the blues when they heard that the examination would not

be postponed after all.
(1) cheerless and depressed (2) vielent and angry
(3} wearing blue badges (4) singing sad songs

i -

Direction for Q. Nos. 17 to 20 : In the fo'lluwing questions, a ‘3entetios is divided into
four parts. Read each part ofthessegtence to find oyt whether there i any error in
it. The error, H any, will be in one part of the sentence, the "trmbép ot ¢

A - hat part ig
the answer. (Ignore the errors of PUnctuations, if any) *
17 {li Why we do not (2) meet todiscusg
(3) this matter il (4) on rext Friday »
l--Sl T

P.T.0,
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18. (1) One of the secret

t2) of success is

(3) to keep trying (4) and not give up.

19. (1} The present study has been designed
(2) to examine whether or not
(3) traditional approaches are
(4) still applicable.

20, vy v {inform me {2) of yours arrival hme

(3) ishall cometo : (4) meet you at airport.

Direction for Q. Nus. 21 to 24 : In each of the following questions, four werds which
are numbered (1), (2), (3) and (4) are given, one of which may be wrongly spelt. Find
out the word with the wrong spelling. The number of that word is the answer :

21, (1) administrative (2) accomodation
(3} industrial {4}; managernent
22. (1) resignation (2) aggression
(3} fixation (4} regresion
23, (1) Haison . {2) enterpreneur
" (3) personnel (4) enterprise
24, (1) absence ' (2) proportion
{'3} perfentegg {‘1} diSpL’lt&

Direction for Q. Nos. 25 to 28 : Qut of the given alternatives, choose the one which can

be substituted for the given words or sentence :

man :

(2) Monarchy (3} Autocracy

95, Government by one

(1) Anarchy
1 handwriting

he art Of beautifi
{2} Cﬁ\]lgraphy (3) Draftsmai

26. T
(1) Paleography

(4)

{4) Democracy

(4) Painter



17PR/306/25(Set-)

27. A speech made without preparation :
(1) Prepared {2) Debate
(3) Extempore {(4) Elocition

28. Release of a prisoner from jail on certain terms and conditions :
(1) Parole {2) Parley
{3) Pardon ; (4) Acquit

Direction : Read the passages given below and answer the questions that follows each
passage according te the contents of the respective passage -

PASSAGE -1 | ;

Pablo Picasso showed his truly exceptional talent from very young age. His first word
was lapis (Spanish for Pencil) and he ledrnt to d#sw betore he could talk. He was the
only son in the family and good looking, so he was thoroughly spoilt. He hated school
and often refused to go unless his doting parents allowed him to take one of his
father's pet pigeons with him.

Apart from pigeons, his great love wés art and when in 1891 his father, who was an
amateur artist, got a job as a drawing teacher al a college. He often watched his father
paint and sometimes wag allowed to help. One evening his father was painling a
picture of their pigeons when he had to leave the room. He returned to find that Pablo
had completed the picture and it was 50 amazingly beautifl and lifelike that he gave

his son his own palett,e and brushes. His father never painted again. At that Hm e,
Pablo was just 13. —

29. Asaboy Pablo Picasso was:
{1) ordinary looki#F DU talerited i
(2) handsome and talenteq
(3) handsome and smdinusx'“\ =

(4) handsomeand hard Working

. (5

P.TO,



17P/306/25(Set-|)

30.  He was spoilt mostly because he was ;
(1) asmart boy
(2) loved by one and all
(3) the only son in the family

(4) aiways surrounded by notorious boys

31.  Picasso went to schoal only when :
(1} his friend accompanied him
(2} his father weni lo him
(3) he was allowed to paint at school

(4) he was allowed to carry a pel with hum

32, When his {ather painted in the college, Pablo :

(1 occasionally helped him (2) rarely helped him
(3) adways helped him _ (4) invariably helped him

PASSAGE -2

The jobs do not get changed around from time to time. | started off on one of the nicer
ones, | sat at a conveyor belt slipping a piece of cardboard under each cake as it came
down the line. At firsl it was difficult to keep up. An uneconomic movement, a fumble
and four cakes have gone without cards. [ got up to chase the four cakes, eight more
appeared and for five minutes or so [ had to work at twice the speed to work my way
back to where I was sitting before. But it takes half a day or so to learn how it i3 done
and soon it becomes quite automatic. The frenzy had quite worn off by the end to the
(ivet dav and there was only the monotony and the aching arms. '

Later I moved to another job on the line, as the girl who usually did it had left. wasn't
surprised. It was the nastiest job in the department. As the cake came out of a machine
that had sliced it in three layers, two streams of artificial cream were poured over the
layers. [ had to stack the layers up again — a messy and very liring j{:-b The cakes were

a 4 the cream was slippery. Anyone who hﬂ% worked at all in a factory knows
» ?dahthl}a conyeyor belt work is. ALfirst itis difticult to keep up and when you are
how dea b

. o mercfle-‘ﬁ- After a while, when yOU have becorne fairly used to il, lhe
ired 1t 16 qU : 3 . L
'

(6)
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The writer's purpose in writing this piece is to :
(1) make people who don't work in factories realme what it is like to work
there
{2) plead to abolish manual labour from factcneq
(3) plead to get unskilled ]oba made easier
(4) explain to young people how to handle a job in an automated production
unit. ,

When the writer was moved to anotlier job she wasn't surprised to find that :
(1) she had been moved

(2) her new job was very unpleasant

(3) the cream in the cake was artificial

(4) the girl before her had left

The writer found it a messy job to :

(1) separate the three layers of the cake

(2} pour artificial cream over the layers

(3) stack the layers up again

(4) put the eake back on the conveyor belt again

The writer calls the conveyor belt 'merciless” because it :
(1) could cause ar injury if one makes a mistake
(2) is devoid of human feelings

(3) does not slow down-even whcn the worker is Hered
{4) it is hard task master

SECTION -2
g - 2

4 bells toll tc:-g,ether at 9:00 AM. _They-toll after 7, 8 11 and 12 seconds
respectively. How man} times will they toll fﬂgﬂhlﬂ' ag.amm the next 3 hm:i :
4ﬁﬁwaﬁ\qﬁmaﬂfﬁ§pu%ar;,& 11 &N ijﬂaﬁ.

o &1 SR 352 o TR R B 6 Ay o R P
13 el & 22 4 6

(7)
PYO.
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38, Find the greatest number of 5 digits, that will give us a'remainder of 5, when
divided by 8 and Y respectively.

(1) 99931 (2) 99941
(3) 99725 (4) None of these
5 fefoe @1 el e 7w o SFG, @ B 5 RdTsy 3 W 8 3R 9 @ mAwm
ﬁ"ﬂl.‘ﬁ?{ ﬁ'a‘-!]T I
(1) 99931 (2} 99941
(31 99725 (4) g% & g A
39.  Find the number of divisors of 720 (indluding 1 and 720},
() 25 (2} 28, (3) 29 (4) 30
7201 TR 31 feamger s #IRg) (1 9k 720 TS @) -
(1) 25 (2) 28 (3) 29 (4) 30
40.  What is the next number in the series given below ?
S8 D Wl s i oA ?
(1) 29 (2) 32 (3) 33 (4) 35

S R O N arren e aur B 7
< R W b 157 T SRRRRNNO,
(1) 29 (2) 32 (3) 33 (4) 35

41. A passenger train departs from A at 6 p.m. An express train whose average
speed exceeds that of the passenger train by 15 km/hr leaves B for A at% p.m.
The [rains meet each other mid-route. At what time do they meet, given that
the distance between the two cities is 1080 km. ?

{1} 4am. : {2) Za.m..

(3) 12 midnight (4) bam.

o 6 T U ﬁﬁa{‘gﬁrﬁ. ES| ﬂ?-‘;"f?‘:él.‘;"rﬁ TR Fﬁwaﬁﬂﬁmﬁ:ﬁm 3
415 Km/he 3 FTEBE A D R0 9 qof @ B wwrd) 81 &1 & diy vt
mglﬁmam et &t e, crafs = e’ @ A B g 1080 Km ® ?

2) 9% 294
(1 e 4T i
(3) T 123 (4) g7 67

(8)
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(1) 14,800 (2} 16200 (3) 15400

17P/306/25(Set-1)

A man purchased two varieties of rice in the ratio of 4 : 5. The prices of the two
varieties are in the ratio of 3 : 2. He sold the entire rice for Rs, 2,530. Find the
difference in the cost price of the two varieties of the rice.

(1) Rs.12 _ (2) Rs.15

(3) Rs.20 ’ (4} Can't be determined |

TF IEH 4 : 5 F AW F Y 5oR B a9 @ied & SFT FEe P gea 3 ;2
X A B WA g3 wEE 2530 Fo 39 R | =Y HR @ wHe @ wiee igd A
=TV S Wi - ‘

(1) 12%0 - (2) 15 %o

(3) 20%0 (4) Feifa 787 frn a1 w&a

The average weight of 6 persans is increased by 2.5 kg when one of them whose
weight is 50 kg is replaced by a new man. The weight of the new man is-

(1) 65kg (2) 75kg (3) 76 kg (4) 86 kg

6 Al T N 9 7w B 25 Rowme svr B, wE R W B 50 Redlo ¥R FEed
U A W Qe &1 W Ay o

(1) 65fFm0 {2) 75 femo (3) 76 ﬁ'ﬁm (4) 86 Fumo

tresh grapes contain 90% water by weight while dry grapes contain 20% water
by weight. What is the weight of dry grapes available from 20 kg of fresh
grapes ?

(1) 6kg | (2} 8kg (3) 2kg (4) 25kg

Gy m‘rﬁmmaa%mﬁrﬂ?mﬁ@mmwm@w%m@wm
IR &1 € G 20 T @ SR & gre #

(1) 6 &m0 (2) 8 fumo (3) 2o (4) 2.5 famrmo

The population of a town was 13,000 at the endnﬁ-&m_ym 2000. What wiji b

the population of the town at thé end of the year 2002, if the rate of populati )

growth is 20% per annum ? aanen
T

(1) 14,800 (2) 16,200 {3) 15,400 @) 14400

af 2000 # 3 4 T Wy P TR 10000 3] af a0 o
'ﬁﬁw%ﬁsﬁ?ﬁ,wﬁmm@muﬁmﬁ%m;? P g @t

(4) 14499

-

-

(90

PIo
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46. An employer pays 3 workers X, Y, Z a total of Rs. 610 a week. X is paid 125% of

47.

48.

the amount Y is paid and 80% of the amount Z is paid. How much money does
X make in a week ?

(1) Rs. 210 (2) Rs. 200 (3) Rs.150 {4) Rs. 180

U3 frle 3 adfd X, Y, 2 &7 3 B9 JA 610 To odl 2 X @ 125% Y & e
o e & s 80% Z @ TANTE @1 Ao € a1 wwe & aid & X @ BRe 3w
Tt ?

(1) 210 %o (2) 200 %o (3) 150 %o (4) 180 %o

A shopkeeper makes a profit of 20% on the cost of 20 fruits by selling 16 fruits.
Find his overall profit percentage : :

{1) 50% (2) 3333%  ° (3) 25% (4) 62.5%
TP gETER 20 B B e W 16 B e 20% S F Vihe ¢ & IHDI
{1} 50% (2) 33.33% (3) 25% (4) 62.5%

What is the simple interest for 5 years on sum of Rs. 700, if the rate of interest
for the first 3 years is 8% and for the last 2 years is 7.5% ?

(1) Rs:269.5 (2) Rs. 283 (3) Rs.273 (4) Rs. 280

700 To B A W 5 WA § oy RiTA T 941 BT, TR YT S FHAT Ted 3
Hid @ far 8% 3R T B 29 @ fay 75% 8 7

(1} 269.5 %o (2} 283 %o (3) 273 %o (4) 280 %o

Vinay deposited Rs 8,000 in a leading public sector bank, which pays him 12%
'.I“t.er-esl; per annum compounded quarterly. What is the amount he receives

Jfter 15 months ?

(1 Rs. 92742 {2) Rs.92288 . (3) Rs.93143 (4) Rs.9338.5
e i wmex ¥ § To 8,000 T N o fb @9 12% g
Hﬁﬂﬁmﬂﬁﬂéﬁwﬁwiﬁm% 15 8N T o Rreed ww fronf 2

(1) 9274.2%° (2), 92288 %0 (3) 93143 %0 (4) 93388 Fa

(10)
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What annual payment will discharge a debt of Rs. 808 in 2 vears at 2% per
annum ?

(1) Rs.200 (2) Rs. 300 (3) Rs. 400 (4) Rs.350
2% sftad W 297el ¥ PF-HT T Y o 808 BT FUT GHIGT 7
(1) 200%0 (2) 300 %0 (3) 400 %o " (4) 350%0

4a? + 8b2 = 12ab.Find a : b.

_f1] 1:2 (2) 3:2 (3 2:1 (4) None of these
4a?+ 8b? = 12ab, a ;b T @ |

(1) 1:2 ©) 3:2 _f.{aiz;l* (4) 9 @ DI 8
If{p+q):(p-q)=1:15, then the value of (p? - q2) is equal to :

(1) 2 (2) 3 3) 15. (4 13

HR (p+q:(p~q)=1:157a (p2-q2) B ¥ &R 2

(1) 2 (2) 3 @1 (4) 113

Dr.‘ X and Dr. Y are partners in a nursing home. Dr, X invests Rs. 3,50,000 for 8
months and Dr. Y invests Rs. 4,20,000 foc 10 months. Out of a profit of
Rs. 3,15,700, Dr. X share is -

(1) Rs. 94,710 (2) Bs.1,26280  (3) Rs.1,80,400 (4) Rs.1,89,420
3o X ok Bo Y w5 R 8 # uidww £ 8 7 & 7 e X 350,000 To T
a;wf # al Jlo Y 10 %87 B T 4,20,000 To g @y § 3,15,700 e B difte
W Slo X o Remr 2 -

(1) 94,710 %o - {2) 1,26,280 %o (3) 1,30,4dﬂ Ho (4) 1,89,420%0

A cistern is normally filled in 5 hours. I—Iowev;l':_ii takes 6 hours when there is
leak in its bottom. If the gistern is full, in wha; time__arsﬁ:ill_ the leak empty it ? ‘
(1) 6has (2) Shrs (3) 30hrs ) 15 hrs
Ue Rved W 3 9 4y oy A a2 _
6 B @ ¥l Rie 7w gy €7 b g %ﬁm#mﬁg"ﬁ#
M 6w Q) S WrASE @ 15w

(1

4 PYO.
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5b.

56,

a7

28.

59.

BLtl"r#'L‘(:ﬂ 3 am. and 5 p.m. of a particular day for how many times are the
runute and the hour hands together ? -

Iy 11 2) 2 (3) 33 (4) 44

U 39 d 5 am 3w 5pm @ d, fo aR fi9e afv arer &9 wF w8 E 7
(1) 11 - (2) 22 {3) 33 (4) 44

In how many ways can the letters of the word "PATNA” be rearranged ?

(1) 60 (2) 120 (3) 119 (4) 39

T ave 8 PALINA o & FEW o1 dore fwn = e 2 7

(1) 60 (2) 120 3) 119 @) 59

A bag contains 3 white and 2 red balls. One by one, two balls are drawn
without replacing them. Find the probability that the second ball is red.

() 2/5 (2) 1/10 (3) 2/10 (4) 3/5
U &7 A 3 whg OR 2 o e €1 U @ 9% T, 2 T A qee Fere o )
T sme ARy F g iy w2

(1) 2/5 C@ /10 (3) 2/10 {4} 3/5

log,:3375 * log, 1024 =7

() 1o (2) 18

(3) 12 {4) 15

03375 * log, 1024 = 7

(1} 16 (2) 15

(3) 12 (4) 15

The areas of two similar triangle:: are 9 cm? and 16 ¢m? respectively. Find the

ratio of their corresponding sides.
(1} 3:4 (2} 4:3
(3 2.3 (4) 4:5 -

ﬂwﬂ%ﬁ@-ﬁqﬁm@m@q]ﬁcmw:%lmaﬁﬁﬁﬁm?ﬁ
YR = iy |
{1y 3:4
(323

(2) 4.3
(4) 4:5
(12)
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" 80. Find the length of a chord which is at a distance 12 ¢cm from the centre of a

circle of radius 13 cm.

(1) 9em 2) 10em (3) 12em (4) 5em .

Um Bie B awid @ Sy S F 13 99 B T wfde @ e F 12 eom A
WmE:

(1) 9am (2) 10cm (3) 12em (4) 5cm

Direction for Q. Nos. 61 fo 64 : Study the given table and answer the questions that
follow :

3w o7 Wo 61 W 64 7 7 : A Y M Caw @1 ormme i R BT ot @
e dfem

Table : Distribution of students at Harvard University according to Professional courses

Others 12 | 100 * 3

h

61.

62.

[f 60% of the boys and 70% of the girls are successful in the courses taken by
them, then what is the comibitied pass percentage (approx.) 7 )
(1) 67.2 {2 631 (3) 62 (4 685

afd 60% ered @ik 0% weleat s BRi A ara & o 39 R & o s
U uRdcS 9 2 (m} ?

(1) 67.2 (2) 63.1 (3 62 t4) 68.5

In which course is the percentage of girls (among the total number of students)
higher than the percentage of girls in any other course ?

(1) Business management- - ©(2) Computers

(3) Finance (4}’ Others

for R o oot B eSS (Ped v e WEoH ¥) Wed v & o

& TR @) qem A ? T o
(1) faorm el —— 2) et

(3) wEE ' () FT -

L18) P.T.0
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-

63. By whal percentage is the number of students doing Computers more than the
number of students doing Business Management ?
(1) 672 (2) 63.1 (3) 62 (4) 68.5
Rt e & Fragey v dlel BiEl & W REw B @l aa w9
FHH & ?
(1) 67.2 (2) 63.1 {3) 62 (4) 68.5
64. 'The percentage of girl engineers doing Business Management are :
5 el 122 (3 15 (4} None of these
f4ur faie B Tral T ST &7 uldwd
1 nz2 (2) 12.2 (3) 15 (4) 378 H§ A
?TW"" for Q. Nos. 65 to 67 : Study the given table and answer the questions that
allow ;
P weT Wo 65 W 67 @ fay A A M a—cvrfrn e BT AR A yel B
g ety

Five football tearms Mohan Bagan, Mohammedan Sporting, East Bengal, JCT and
Churchill Bruthers are all going o play each other once. After some of the matches
have been played, a table giving some details of the matches played, won, lnst, etc.
looked like these :

T EEAiE A dien ammE, Beeed il e g, ol ok @ weE 1@ ar
W‘f—ﬁmﬂm Al go dY Werd B AR, é’rﬂ'a‘ﬁﬁwﬁﬂfr wff'?aqﬂ’:aa?mfév

g oftd, = anfy - L |
Team | Played | Won | Lost | Drawn | Goals for | Goals againsq
(&) (g%’ﬁ__?_ﬁj} Gl | G| @D | g wa) | (@ faes we) -}
Mohan B;lga'n 1 i) 1 U 3 ~ 4
I . | ,'
Mohd. Sporting 0 4 ‘ 3
U\T‘ﬂu qq‘*.ﬁr.} | .
ll East Bengal 3 i 3 2
| e ) .. _ B
ﬂ[-_'[‘ l 1 W] 0 . 2 . 1
R I— + l = |
Churchill Brothers l I ¢ A : |
(afde e 1l

(14)
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65. How many games did Mohan Bagan played ?

(M 1 | | @2

{3) 3 (4) Insufficient data
Algw A | feew g @ ? ‘
m1 @ 2

(3) 3 C(4) e S

66. Against which team did East Bengal not played yet ?

(1} Mohan Bagan (2) Mohd. Sparting
(3) ICT (4) Churchill Brothers
T I A 39 g% 59 O @ g T8 @ 7
(1) #res s - {2) He Wi
(3) it ; (4) af¥a sow
67. 'What is the score in the East Bengal Vs. Churchill Brothers match ?
Ty D) 12
{3) 00 {4) Thie match did not take place
% I g9 e 728 A9 T wR & 7
1) 2-1 (2) 12
(3) 0-0 (4) #= T e

Divection for (). Nos. 68 to 72 : Mark :
PR g e 68 § 72 @ oy : gfv
{1) if statement I alone is suffictent to answer the question.
(2) if statement [1 alone is sufficient to answer the guestion,
(3) if both statement T and B-together are required to answer the question.
(4} if the guestion cannot be answered even with both the statements.
(1) I 2T T o -wafow 303 77 g 2 4|
(2) aR wem 1l sben watw ¥ W o7 @ 3 N
(3) afe e wu 1Y I v-wy yoferg & e T TN QY
(@) aft g QAN wordt & e N T A ¥ e o

(15)
P.T.O.
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68,

69.

70.

T1.

Ifa:b:c=2:3:5, find the value of a, b and c.

. The value of ¢ is equal to sum of a and b.

lI. The value of a - 3b + 4¢c = 39,

AT a:bic=2:3.58,d1 a,b TF ¢ F A7 T A |
L c®1mM a3fx b 99T & a¥aR B |

II. a-3b+dc & ¥A398]

The incomes of A and B are in the ratio 5 : 3 and their expenses in the rativ 9: 4.
Find their incomes.

. Each of them saves Rs. 700.

1l Each of them saves equal amount.

ASRB® &5 3% o ¥ § oK I @rw 9 1 4.9 Fud A F| I o
Biiiimg

I o 8 qa® 700 To g9l & |

I w9 welien gxree T FETET 2|

The value of y at x = 0.5 is 24. Write the equation connecting y and x.
.y varies inversely as x.

. Atx=2yisé

x =05y B A 248 y e x B wivgs e v fafay )

1y, x O ¥R gAaEel &8 okl 2

I x=2Wy68!

The cost of diamond varies as the square of its weight. A diamond weighing 12
grams cost Rs. 3,600. The diamond broke into pieces. What is the gain/loss to
the merchant ? |

| The weights of two of the pieces are in the ratio 2:1,

11, There are only two pieces, '

G g7 e A% N @ S ao @ 9 B w0 A 12 9W 5 @ W W
gmsmwc%ﬁﬁﬂﬁﬁw@aum%|a:rmﬁaram;grﬁm%?

E ﬁgﬁ?—ﬁﬁmﬁﬁqzlﬂ?ﬂﬁqﬁﬁﬁl

I @ 4 ES B
(16)



72,

73,

74,

735.
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If the length of a reclangle is increased by 5 cm. and the breadth decreased by 2
cm., the area is unaltered. !

L I length is decreased by 3 cm. and the breadth increased by 2 cm., even
then the area is unaltered.

Il Length of rectangle is almost I'WIEE' its breadth.

uﬁ%maﬁmﬁﬁmﬁﬁmmaﬁ?aﬂE@z:mw?m ﬂ’l';fﬁ‘m
IS &

L aﬁwﬂﬂﬁrwﬁwﬁaﬁ:aﬁaﬁzﬂﬁrwﬂmﬁﬁqﬁm
FAATES TR

i1 ST B orarg @ 9we e @1 g 2
SECTION-3
HqUS -3

To which animal is the myth attached thal it sweats blood ?

(1} Rhinoceros (2) Platypus

(3) Whale {4) Hippopotamus
ﬁrﬁmﬁmrﬁmrg@%%dsmwﬁﬁﬁﬂt YAl B 7

(1) mﬁm (2) wferw (3) = {4) fivdrde

What is the market situation in which each of producers affects, but does not

control the market 7

(1) Monopoly . {2) Perfect competition
(3) Price differentiation {4} Wgﬂp{ﬁy

%m-fmwmﬁmeqwsm%w%m

(1) FFOER N (2) TwEe FERE
(3) wen femRmym (4) sifemioieh
How many spokes ate there in,the "Chakra" (Wheel) of our Nationg) Flag »
(1) 12 \2) 24 .30 (4) 16 ,
FIR YT s B U ARaad, St ¥ o '
(1) 12 (2) 24 (3) 30 4) 16

(17)

P.T.C.
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76. Which brand of fabrics was named after Ramniklal Ambani's son ?

78.

79.

(1) Raymond {2) Vivaldi (3) Vimal (4) Mayur
TR SFEEl & 42 @ AW T S BRe wis @ 7

(1) <Fug ) faed (3) foma (4) T
Which one of the following is not a direct tax ?

(1} Wealth tax : (2} Professional tax

(3} Income tax ' (4) Service tax

et 8§ 3 o) dousy ad TET R 7

(1) Huhr B (2) WHEEE @Y (3) AT AN (4) dar &
Expand 5QL :

(1) Standard Query Language (2) Structured Question Loop
(3} Structural Query Language (4) Standard Question Loop
SQL an ot oy &

(1) ¥CTes @dd ofda (2) IS FATET o

(3) TN Fae widae (4) wved Ut o

In the context of the share market the term 'Limited liability’ means :

(1) The number of shares in the company is strictly limited

(2) Shareholder is only liable for the debts of the company to the extent of the
unpaid value of his shares

(3) All stakeholders in a company share an equal though limited liabilily lor
the company's debts

(4) None of these

e Hde @ dod A Tifes wffed @ e 2

(1) s # TR A AR e W 8

(2) MENEER B A & g B AEed § WfE SwE IR T s doy
2l

mmﬁgﬁﬁ@mmﬁﬁﬁﬁﬁwwaﬁm%ﬁﬁmﬁﬁ@

sy & E
(@) T B
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Who wrote the famous book for children ‘The Jungle Book' ?

(1) Dickens (2) Kipling

(3) Hans Christian Anderson (4) Enid Blyton

zeaf & fog ofivg qas g Siva 9o R fardt 7

(1) fe== - {2) fafer

(3) ¥w Bt vewm (4) g =maeq

Who gave the theory of - 'Hierarchy of Needs' ?

(1) Keynes (2) Maslow (3) Keter (4) Marshall
TRRE S N Rrgrn B R

(1) &y (2) At (3} BlTer (4) #refer
Who is supposed to be the ‘father of advertising' ?

(1) Kotler (2) David Ogilvy

(3) Peter Mathew (4) Fernando Smith

“WTER 15 FeacigfiT frue) qr o 8 2 |

(1) #Ew . (2) SRz sifreht

(3) frex #ey " (4) vewarar fweg

Who HM explicilly for the first time the 'Law of Comparative Cosis’ in the
context of the theory of interniational trade 7

(1) David Ricardo (2} Alfred Marshall

(3) F.W. Taussing (4) A.C. Pigou
Hﬂﬁﬁ?ﬁ@ﬂﬁ?ﬁﬂi@#ﬂ?ﬁﬁﬁ?ﬁmﬂ%ﬁ'ﬁwm&am“aﬁ
W WY A ? '

(1) 2frs Repret @) v e

(3) Yo Tewgo TR (4) To o iy

What is the process used to resize and layéf WIndows on the desktop
each title bar is visible ?

(1) Cascade () Basket | @pavomphing (g Merging

S w R ) S I S e B B o afar
§ et o o i Ty 5 T A 52 P ey

—————-

(19) -

50 that

PT0,



17P/306/25(Set-l)

85. Which well-known portal derives its name from Jonathan Swift's "Gulliver's
Travel" ?

(1) Yahoo (2) Lycos {3) AQL (4) Google

W flage ) ofeed gaa @ fbw deA dide 3 sen A far & 7
(1) ag 2) m {3) Q@m {4) e

86. Who was the P.M. of Britain when India gained independence ?
(1) Winston Churchill
(2) Harold Macmillan
{3 Anthony Eden
(4) Clement Attlee
T ARG B W@ e w1 e 1w w9 @i en ?

(1) Towes wfa
(2) &fes Fwfve
(3) T Us
(4) Foldim gt
87.  Which of the following is a Microfinance institution in India ?
(1) SKS Microfinance (2) SMS Microfinance
(3) PSS Microfinance (4) SPM Microfinance
ﬁﬁﬁﬁwﬁaﬁﬁ-mmsﬂéﬂwm%?
(1) SKS FRmIEEd (2) SMS AEFIHIS A
(3) PSS FIEIAETH (4) SPM TTEPTEIgTE
88. Which Indian state is surrounded on three sides by Bangladesh ?
(1) Mizoram {2) Meghalaya (3) Manipur (4} Tripura
Fren RAIT T TRy 4§ i ey ¢ iR g ?
(1) (2) WO (3) ARTR 4y B

(20)
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The apex organization in the field of rural credit is :
(1) National Bank for Agriculture and Rural Development
(2) State Bank of India

© (3) Grameen Vikas Bank

90.

91,

92.

93.

{4) SIDBI :

weet BT B 8§ e sfeo 2

(1) vFE ¥ BR ghewae iy e STaie

(2) "RéT W ¥

(3) ami R o ;

@) T o1f @ @ ong o

Which was the most important game of Indian civilization in [ron age ?
(1) Golf " {2) Polo (3} Chess (4) Battleships
TR G W AR GWRT B e Y W o

(1) T&® (2) ora {3) o4 - (4) Aewdny
Kinley’ mineral water belongs to which company ?

(1) Pepsico {2 Cocacola (3} Real (4) Onjus
Kinley' ®ee arce e ol a1 & 2 =
(1) uftaer (2} DIF-BIen (3) e 4) 3rrare

Who founded the Anglo-Mohammedan College, later the' Aligarh Mustim

Univerﬂit}r 7

(1} Sayyaid Ahmad Khan - (2) Abdul Ghaffar Khan
(3) Zakir Hussein {4) Aga Khan1
e Yroilders Fo B T B ol a1E A s e gRERS & ad) ?
(1) ¥ semg @F (2) SEgE, TEBR Wi+
(3) Wi g+ (4) amm @M [
What is 'm’ in m-commerce ? ¥
(1) Mouse . {2) Monitored (3) Mobile (4} Money
R ' 2 7 e
(1) wea 2 wifeE (3) BEEE (4) 75
(21 |

F 10
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94.

95.

96.

a7.

s,

Narne the Roman goddess of wisdom, arts, science etc. :

{1) Fortuna (2} hana (3) Minerva - {4) Nokla

firrem, and ofiv Agw o) TEd TR o AH B

(1) Bz (2} e (3) e (4) TrEen

Which battle marked the beginning of the British rule in India ?

(1) Baitle of Plassey (2) Third battle of Fanipat

{31 Battle of Tarain (4) Battle of Buxar

s # wtd Tg &) ARY Bel B e HE W 8 7

(1 i % g (2) uTHTd &1 N YE

(3) TET T G (4) TR B IE

What did Rudyard Kipling describe as "thread running across the map of

India”?
(1) River Canga (2y The Himalayas
(3) The Grand Trunk Road (4) None of these

weard fafeeT A fva) "thread running across the map of India” & oy B offe
o & 7

(1) T T (2) § TR

(3) % e 7@ 7S @) R P A

Any source of products or services for consumers is referred toasa ........... :
(1) retail outlet {2} contact point .

(3) transaction point {4) distribution outlet

Fopn 3 Ry NeTew o wfity @ 5@ 99 B FE

(1) fEs amseae (2) BfcdC WET

(3) i @ISe (4) e anseee

Which of the following is the major reason, CONSUMETS give for shopping
online ?

(1) unique merchandise L (2} price

(3) impulse (4) convenience

by 8§ @ P T BRY S wngw T B @ g wwiie < 8 2
(1) q\;ﬁjﬁ e - (2) Wigs

(3) §RI (4) FE-E

(22)
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99. Which of the following is mot a factor affecting consumers’ retail outlet

selection 7

(1) outletimage (2} retail advertising

(3) outlet location and size (4} number of levels of distribution
Py % & 2951 3% sgR @ IR aTscoT Yo T WAl T8 e 2 2
(1) MSTHE T (2) ¥ TeTCiRT

(3) ST FHYE AR TR (4) TR 3% oden i fEwiemm

100. Which dimension of store image consists of quality, selection, style, and price
compenents 7

(1) merchandise (2) service
(3) physical facilities (4) store atmosphere

?ﬁ'sﬁﬁiiﬁ?ﬁﬂ-ﬂmﬁﬂ%&, Helew™, wrge v g wadrtew P o
?

(1) T | (2) Wi
(3} ffma wiafad (4) R Teriter
101, Brands owned and sold by a specific retail outlet are known as ........... :
(1) primary brands {2} secondary brands
(3) store brands E (4) intermal brands -
fafire dte aeee & BRI aTew @1 it g 3l dmer sEear &
(1) o wisw (2) Hpved gy
| (3) wR FH y (4) FTTTA AgH
102. Nlchﬂ‘nald'S; Domino and Pizza Hut are all examples of which of the (ollowin 8
retail forms ?
(1} corporate chain : (2) voluntary chain
(3) retailer cooperative {4) franchise
Feeries, AT ol o #2 ag o et F 2 B ReT W5 & gurzer § 0
(1) BRe ™ (2) O g7
(3) e wpimRs -~ (4) weE

53 s
b P.T.0,
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103.

104.

105.

106.

When using the "ABC' approach to stock categorization. Which of the tollowing
describes class 'C' items 7 '

(1) High value, high risk {2) High value, low risk

(3) Low value, high risk (4) Low value, low risk

O 'ABC' 3ita wefe dewEdT B AT W B 8 O B A @ @l aey
'C Migerd afto weer & 7 |

(1) &% I, & Re 2y = Iy, @ Ren

{3) &ty 8 R (4) o ey o Rew

Which of the following is not a part of Supply Chain Management Svsiem ?

* (1) Supplier (2) Manufacturer (3) Competitor (4} Customer

s o e fivey @ B A W B ud e T8 7
(1) ere {(2) A (3) wCIeY (4) W

Which of the following statement is frue ?

(1) Logistics is a subset of supply chain,

(2) Supply Chain is a subset of logistics.

(3) Transportation and logistics are same,

(4} Physical distribution and logistics are same.
P # 9 oY\ ded @ e 7

(1) wifiicsa uwiid T8 & §IeT 8

(2} Woms A wifARed @ gawie &

(3) rriem AR oifdfesa wF €

(4) Refrra Refeem sk dffifesd &9 &

The impact of cost reduction on profits is much larger than the impact of

increased :

(1) innovation - (2) production

(3) informalion | (4) sales
fﬁiﬂmwaﬂﬁﬁﬁﬁmam%m ....... F T |
(1) 29 (2) Sre#r

(3) T | 4) s

(24)

-
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107. The process of planning, implementing and controlling the efficient, cost

108.

104,

effective flow of materials and related information from the point of
consumption to the point of origin is : ;

(1) Logisties (2) Supply Chain Management

{(3) Ups&eam management (4) Reverse logistics

Rtuey v thifew, ﬁﬁsﬁﬁamﬁwﬁvsﬁ%ﬁﬁnsﬂ?mﬁ
maﬁnﬂﬁﬁﬁ%w%mﬁmm@rﬁaﬁﬁsﬂﬁﬁm%

(1) =ififesa () I%id 39 Hede
(3) e Frere (4) Rl wifaftesa

A bill of material (BOM) lists the -

(1) Times needed to perform all phases of production

(2) Production schedules for all products

(3) Components, ingredients, and materials required to produce an item

{4) Operations required to produce an item

W & it AdiRaer foree wwen &

(1) mﬁtﬁﬂﬁitﬁmﬁiWﬁaﬂ#ﬂ%fﬁvﬁwﬁaﬁaﬁ

Q) i steFeH & Biw Mewm degw

() ¥ ¥Ees Egw F B iy ey, mﬁsﬂ?ﬁﬂﬁuﬁﬂﬁﬁm
(4) wmmmmﬁﬁqmﬁmm

Customer relations skills such as courtesy and [riendliness should be
emphasized during a business's 1 g

(1) facilities design (2) hiring process

(3) market research | (4) technelogy planning
ﬁ&ﬂﬁmﬁﬁwﬁﬁﬁaﬁaﬂ?ﬁmﬁwﬂmﬁmm
B HIRT

(1) deferd R | 2) g AR

@3) wde dud [4_] S tenfin

(25) PTDO,
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110, Which of the following is an example of primary hospitality and tourism

111,

112.

market information ?

{1) Financial statements provided in annual reports

{2) Automated guest history records that can be shared by affiliated businesses
(3) Reservation records and registration information

(4) Free reception for frequent travelers in which feedback is collected

forr # & @ ugadl SRS ofiv oiReq Aide §hMe &1 $ee &

(1) THara R # Rl R mele Weten

() Aferrs e R Redy o fb (RS Reea @ W R B w2
(3y Reder Redw @R TRger geing

(4) et 2o o fory o R Rt f sl Fae o7 §9 €

A small, local restaurant has decided to advertise its elegant atmosphere and
qualified waiter staff. This approach is an example of .__............... marketing,

(1) service {2) Mass (3) product (4) target

U@ B, P WE T I Uaie venRee R wIeeEs dey e Bl WER
F fafea | 7w FrA i @l waE 2

(1) widw (2) ARF (3) WEwe (4) TR

A primary reason hospitality employees and businesses join professional or
trade organizations is fo :

(1) increase employee productivity

(2) qualify for additional government funding

(3) develop promotional efforts and materials
(4) obtain further education and certification

a‘ﬁﬁéﬁﬂmﬁaaﬁ?ﬁﬁmwmmwaﬁfﬁaaffmwaﬂﬁw
T Y FRE '

(7) T e BIET @ Ty erfoETg @R
3) g Thew ot HAREE Sgem B
) oy K [PV S MR g YT

(26)
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What is the typical effect of an economic slowdown on the hospitality industry ?

{1) Anincrease in the number of guests and a decrease in the number of rooms
available

(2) A decrease in the number of guests aru:l an increase in the number of rooms
available

(3) A decrease in the number of guests and a decredse in the number of rooms
availaple

~ {4) An increase in the number of guests and an increase in the number of

114.

115.

1’165

rooms available
BRIt T I sa e w1 @y e wg & 7
(1) Y 3% e ¥ qgrerdt 89 afi Suciar TR AifF wed @7 Tem
(2) T e AH # T B IR Suoe TR @ wW A e
(3) TR offts e F A BT ol Tuwrer wweR ot w @ e
(4) R oI5 TeH A wGE B R SUaer T A TR F TR

In India FERA has been replaced by 2

(1) FEMA (2} FETA . (3) FENA . () FELA
4Wd 4 FERA %t S famar ; : -

(1) Bm {2) e (3) ¥ (4)
Who was affectionately known as the "Grand OTd M3 of India” ?

(1) Bal Gangadhar Tilak (2) Dadabhai Naoroji

(3) Gopal Krishna Gokhale (4) MabhatmeGandhi

fe w3 e, dlies B9 offw sRear war o # 2

(1) #@ TR fGde (2) v .

(3) T gy Mgl {4) wETEn T

Inventor of WWW is - _ T

(1) Bill Gates .' (2) Lee N. Feyong

(3) N. Ressel (4} Tim Berners [ee

WWW & g2 & ¢ . |
) R (2) & To e

() THo ¥ (@) fem

— (27
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17, An expenditure that has been made and cannot be recovered is called :

118.

119.

120.

(1) Variable cost (2) Opportunity cost

(3) Sunk cosl (4) Operational cost

U RTUEER oft [ for o @ 3R Rew =8 fvr o wae, seemr &
{1y dRe= s J (2) sdyfd wfe

(3) ¥ Fhc (4) STRYET T

Many times we read in financial newspaper FII, What is the full form of FII ?
{1) Fina! Invesimentin India (2) Foreign Investment in India

(3) Formal Investment in India (4) Foreign Institutional Investment
L qR T ST HIEARME AR H FILag ¥ Fil @7 9 w9 w® § 7

{1) FETe TEie g9 3R (2) RA FEeHe 39 3

(3) whiet gveite g gheam (4) BRA FATYLT FaweAT

A country is said to be.a debt trap if :
(1} it has to borrow to make interest payments on outstanding loans
(2) it has to borrow lo make interest payments on te standing loans
(3) it has been refused loans or aid by creditors abroad .
(4) the World Bank charges a very high rate of interest on outstanding as wel!
as new Joans.
TF ¥ FT Se S w9 FEl wel ¥
(1) W8 U HECHIET oflF TR Fewe Uied @ fom &l o v
(2) =9 oy wRET d © gewe Wy @ fou o o 7
) wikrs scd @M tec & ol = Ra =
(4} T9 4c8 97 Ao ok T dive W 95T BEvE gove o
An increase in the Bank Rate generally indicates that the
(1) Market rate of interest is likely to fall
(2) Central bank is no longer making loans to commercial banks
{3) Central bank is following an easy money policy
(4) Central bank is following a tight money policy
¥ YT ¥ gQad WA 5P & &
() s & A BT ﬁ?ﬁu‘dﬁ i:rﬂ-*i_'ﬂé’l g W@l
p) St A TR A 31l we o
'4} Y 86 T TRE af) diferd wieh v W ¥

(28)
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spgfdiat & fog P
ot i & PR SRS TR ORI aliogHoaito TR 8 U W e Aiell/d dior e W 8 o)

1. 771 QRaw e B 30 e @ ok @ 2w @ b Wi § R s Avg § ok o
wee weT A€ B | gRawt dwge 9l W W g gEe e FE Prlles @ da
AR UTOH B g qRcE W B o | .

2. Then oA | fyprer wew gdwod @ gfeRed R W WA PR N GE AT
E1E I B |

3. wwvgs s § 2w own ¥ g 7 at A 9k 7 @ fAwT aY/ guw govud Te
f2ar IR B9 TOV.UF BT & qoaed &9 Tl

4.awagmﬁammw$rmnwwyﬁwh#ﬁmﬁﬂwm
o fored | o

5. govom @ T v T ¥ @ S g iR v w o ger 9 R go
ﬁwﬁ#rmﬁ-aﬁms}aﬁmﬁaﬁwmﬁwwﬁw
gfua et v o

B. 3o U0 e ¥ W HIHAE HE, gy e 4 de wem (R w8 e
W—meﬁﬁtmmmowumoﬁﬂwaﬁmﬁmﬁﬁﬁﬂaﬁ
IRl A6l & |

7. T waAfRdl § o & Rtase we PYle® g1 TIRE S A@iEd e 48 UE
R T &1 WA AT S |

8.W-g%ﬁrﬁqﬁ$ma%mﬁaﬂ%mﬁmfﬁﬂﬁﬁimm$aﬁmm$
P aros) SAR.Td @ T AT @ e R T g B) SOV Td 3 e 79 W
ﬁ#@ﬁ#&ﬁﬁmﬁmm—wﬁ?w#ﬂmm?r

9, Wl mﬂ‘cﬁﬂﬂ?fﬁ%ﬂ@ﬁakﬁﬂﬁﬁﬁwﬁlwﬁMﬁﬁWﬁH
4 R @ I T I HH R g SR T AL A

fn.mé‘mwmmﬁmﬁﬁmaﬁ?m?ﬁwwﬁmﬁw%@m
mwaﬁﬁmﬂﬁimmﬁmﬁﬁﬁw-ﬁﬁ@wﬁaﬁmﬂma
¥ gt o7 I 3 [l S|

11.mmﬁi$ﬁﬁﬁﬁgﬁﬁw$w$Mmﬂrwa&nﬁmmﬁrwm
i B o :

12.¢5ﬁnﬁa‘w-ﬁa¢aaaﬁanmomﬁﬁﬁmm#mﬁn

14, 7% @ e o # T A ae &, aE Ry g Puii

g oy /) R B/ E



